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27 365 1,796 6.4
t}7] MMEF A|23& 12¢¥ 61 0.2
22 MMF A|7% 146 463 1.6
A7 271 F MMF 290 850 3.0
FAZH7] 5% MMF 219 422 1.5
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AMAAZFEAEANAE Als 365 534 1.9
A A= 365 28,145 100.0
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B (A) (B) © (A-B) | (A-Q)
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&7 A 0.73 1.60 0.79 -0.87 -0.06
Z A A} 0.77 1.58 0.84 -0.81 -0.07
¥ KNE2EEMN  KGHZA(AZ|FFAE HEZHIIAN PFMS(pension fund monitoring system)
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[Z4] IMF WEO(World Economic Outlook)('17.10), 2017'd ©]%+= IMF 2 %-X]

Q =sHBA
QO 189 IUAA AFE A% = 28% U A%
- FAAE 22 AV1FRoE AErE 9 AHREAY 2t A&
3 P7EARE SRR S BAE HolwA A EELS olojd AT

[For]3d ‘183 % = AAA%]

A5 &4 ZAA A& A5 &4 ZAA A&
>3 2.9% | IMF(=A53715) 3.0%
St dTd 2.8% OECD 3.0%
S A AT 2.9% = 3] of| -4 A ] 2.8%
A A AT 2.8% LG A AT 2.8%
IBK7| 74 2.7% B 2.9%

Q &8AE7 = 1.8% Xd‘“&(ﬁ&%%éﬂ, 17102 715)
QO Ik Zjos B AG5714 71480 24 508 084 A% )=t



2. 3 s 8%
Q 7|&=
O 224 47| 322 FRF TYYY A2 7|EFT Ade=
2 Ao Z AwHF AFvAE(Fed)= 29 33 8 A4S AA
g wet I ZlEFElE A OE QIdE AR 9
Q AAAZ
O = H F=2 5 F87Y 7|38 w&E 473 F2 o] A%
H ANATEE SAHLE T8 X3 A A& A4
[18d 8 =8 A(%)]
=3 71&a¢ =X 3d 3 AA 3@
A8 =4 (183 a4 Fx) | (189 ol ) (’18%‘?:} )
= 3] of| -4 A A - 2.20
LGAA AT - 2.30 2.90
S EedTd - 2.10 2.60
Ag=4 1.75 2.22 -
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- (BAR)FEE 12,660 3,847 3,703 2,550 2,560
- AL 3 - - - - -
- Ak 542 165 150 150 77
N - 71& 489 114 67 258 50
T o ARYREY 1,006 627 127 127 125
- 7173 Az 500 500 - - -
o - 71=3k 506 127 127 127 125
- AT - - - - -
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= ; _ _ _ _
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- 7]} - - - - -
g A 33,823 | 13,353 | 12,647 4,185 3,638
O AR W] 13,630 3,815 4,110 2,925 2,780
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[4TA]] A2 5%, TE7I1ZF 118, 3A 7548 2= 1739994
% ME2H D Ee ME A AIFE = 1.65+10.50(F FH Xb)x /1
(91 : ke
S E&2| 7|24 90% Buffer 95% Buffer 99% Buffer
174 & 1,344 1,732 2,446
271 & 1,900 2,450 3,459
370 2,327 3,000 4237
4714 2,687 3,464 4,892
571 & 3,005 3,873 5,469
671 & 3,291 4243 5,991
774 3,555 4 583 6,471
871 & 3,801 4,899 6,918
971 & 4,031 5,196 7,338
1070 & 4,249 5477 7,735
1170 & 4 457 5,745 8,112
1270 & 4,655 6,000 8,473
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770 0 20
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104! 46 16
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A | dFE | A | TFE | AP | IF
pvge | AEE |40 0.68| 076| 2000 20.00
2HEAE0) | vvE | 40 1341 137 3000| 30.00
PIPTE AAY | 20 | -066| -089| 000 0.00
80) | AFEMEQO) | \pvE | 20 | 1851 215! 000 0.00
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